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Use with text pages 182-183.
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Intersecting Lines

/ ~ Use the diagram to answer each question.

1. LFOE and Wthh angle are vertlcal . 8. LCOH and which angle are vertical -
angles? ” angles’) :
<AO0H EQO &
0. mscoB = 38 . 1. mzAOH = 30
. m£FOG = A% 150=1/0 12. MLFOA. e /E@
13. Does the m ZEOF + mZFOG 4. Does the ms DOE + MLEOF +
- equal the ‘measure of a right angle? . m/FOG equal the measure of a
: : straight angle? - '
¥ i {' ,3 n 0 \/ @ <
T .
1 238 ] 0 '0
; : 1_5..mLBOE'=‘M 16. mLBOG _-_az/_g

//msAOB = 32°

m£COD = 20° .

m/ZGOH =80°  /
‘M~LDOF = 90°
= | ,«/'/’/

. Whlch angle is- the complement of .. 4. Which angle is the supplement of .
- LDOE? . ' ; LCOE? _ :
< eoF £EOG:

- Name the berperidicular lines.

[ : ir“/'ltll o ,: b/:) :

r

.._mLDOE = éO
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£DOE is adjacent to which ‘angle?

(. FO/, & 1"64 < 7>@C7

-

o -
mzEOF = U _
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" Angles

" the code. -

Al
1N\ B

110°

4-mzD
T miGE

10. m4dJ

- . /.17.‘/, O
- B.omsaM. - L20
’ 0
L
16. m£Q L

0
/,{I /
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msT

E 1.

. MLE
. m£LH
14 mzN
17.

mzR

20.

. msB -

m/_K .

mzsU -
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Who was the first American woman doctor?

Withdut measuring, find the measure for each angle.
... Write the corresponding lettér above each measure in

Use with text pages 178-179.
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75° 49>

45° 90° 44° 60° 41° 142° 12g°

KW £ | L

150° 52° 136° 25° 134° 110° 139° 135° 131°
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PolVﬂﬂns

Find the missing angle measures in the
polygons below.

LA= /B
m4B = 65°

-ms£T = 55°
m/PQR =.135°
PQ Il sk

~ msLVWY = 92°
mzZXVW = 63°
mLUXV = 47°
ovll xy

mZAEB = 40°
m£CDG .= 110°
'm4CED = 55°
ABCE is equilateral

mzV = 60°"

-msUTS = 125°
-m4W = 60°

m/FAB = 95°- .

mZPQR ='140° -

m4LTUP = m£SRQ

- s
-Use with text pages 186-187.
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mZA = - ()()

50°

mLBCA

m<£BCD

I
-
W
o

‘m/R = s .iﬁ‘

P
msS = &0

m/SPQ - _Jo°

,-«). a0

mLVXW "—-"‘. -.(,/‘-\ /

met = o4’

MLXWY =" 585 o

mLABE = 550 |

“mzBCE = ([0

~mzEBC = ()

—_—

meepu = Jop?
" m/RST=. /)57 -

meU = |20°

miR =" |20







